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QUESTION 1

What is the primary function of an Online Transaction Processing (OLTP) workload? 

A. To combine data from multiple sources. 

B. To discover hidden relationships in data. 

C. To analyze large amounts of data to find patterns. 

D. To make changes to a small number of records within a single transaction. 

Correct Answer: D 

 

QUESTION 2

Which SQL statement will allow user USER1 to create a view on a table named EMPLOYEE? 

A. GRANT CREATETAB ON DATABASE TO user1 

B. GRANT SELECT ON TABLE employee TO user1 

C. GRANT CREATEVIEW ON DATABASE TO user1 

D. GRANT REFERENCES ON TABLE employee TO user1 

Correct Answer: B 

 

QUESTION 3

A table named DEPARTMENT contains the following data: 

What will happen? 

A. The statement will fail because a subquery cannot be used in an UPDATE statement. 
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B. The statement will fail because the result set produced by the subquery will contain more than one row. 

C. The statement will succeed; the last record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

D. The statement will succeed; the first record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

Correct Answer: B 

 

QUESTION 4

Which statement about UPDATE processing is FALSE? 

A. The UPDATE statement logs the before and after value of every column it modifies. 

B. A searched UPDATE is used to update one or more rows and a positioned UPDATE is used to update exactly one
row. 

C. When the UPDATE statement modifies parent key columns, the value of corresponding foreign key columns are also
modified. 

D. The UPDATE statement modifies the values of specified columns in the rows of a table, view, or underlying table(s)
of a specified fullselect. 

Correct Answer: C 

 

QUESTION 5

You have a business need to query DB2 10 and DB2 9 databases and you want to write an application that can run on
most platforms unchanged. Which interface would you use to achieve your goal? 

A. CLI 

B. XML 

C. JDBC 

D. RUBY 

Correct Answer: C 
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